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QUESTION 1

Which two are true about transactions, UNDO segments, and UNDO tablespaces? (Choose two.)
A. UNDO segments grow or shrink automatically

B. UNDO tablespaces are created and dropped automatically

C. UNDO segments are created and dropped automatically

D. UNDO tablespaces are brought ONLINE or OFFLINE as required

E. All transactions belonging to a single session use the same UNDO segment

Correct Answer: AB

QUESTION 2

Which two statements are true about checkpointing? (Choose two.)

A. The checkpoint frequency decreases with the smaller redo log file size.

B. It ensures that all committed data is written to the data files during normal shutdown.

C. The frequent full checkpoint in a database can cause the overall degradation of the database performance.

D. It prompts the Checkpoint (CKPT) process to write data to the data files and redo information to the online redo log
files.

Correct Answer: BC

QUESTION 3

Your database instance is currently configured to support 1,500 connections. The Web application that uses the
database allows a large number of users to work with the database simultaneously. Some users of the Web application
do not interact with the server all the time. You want to increase the scalability by configuring the database instance to
handle more connections. As a DBA, which configuration would you set to support more than 1,500 connections at a
time?

A. You would configure more listeners for the database.

B. You would configure the database in shared server mode to use the connection pooling feature.

C. You would increase the value of the PGA_AGGREGATE_TARGET initialization parameter that assigns more session
memory to users.

D. You would decrease the value of the PRIVATE_SGA resource limit in the profiles used by the users to accommodate
more session information.

Correct Answer: B
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QUESTION 4

View the Exhibit to examine the output produced by the following query at three different times since the database
instance started and has experienced workloads of different capacities:

SQL> SELECT substr(component, 0, 10) COMP, current_size CS, user_specified_size US
FROM v$memory_dynamic_components

WHERE current_size!=0;

What do you infer from this?

Exhibit:

A. The database instance is running with manual PGA management.

B. The database instance is running with manual shared memory management.

C. The database instance has the MEMORY_TARGET value set to a nonzero value.

D. All sessions are connected to the database instance in dedicated mode, and no RMAN or parallel query operations
have been performed.

Correct Answer: C

QUESTION 5

The ORCL database has CONTROL FILE AUTOBACKUP and BACKUP OPTIMIZATION enabled.
TBS1 and TBS2 are the only user-defined tablespaces in ORCL.

USER1.EMP is a table in TBS1.

Examine these commands: From which files are modified blocks backed up?
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% rmar. target /
EMAN>» BACKIP INCREEMENTAL LEVEL (O DATABASE:

EMAN> EXTT
% sglplus / as sysdba

SUL> LPDATE userl.emp SEYT s5al=10000 WHERE eno=l1;
1 row updated

SQL> COMMTT?
Commit complete.

50L> ALTER TABLESPACE tbksl READ ONLY;
Tablespace altersd.

SQL>» exit
S rmar Largel

RMAN>> BACEKUP INCREMENTAT, LEVEL 1 DATABASE

A. SYSTEM, SYSAUX, UNDO, and TBS1 only

B. SYSTEM and SYSAUX only

C. SYSTEM, SYSAUX, UNDO, and TBS2 only

D. SYSTEM, SYSAUX and UNDO only

E. SYSTEM, SYSAUX, UNDO, TEMP, TBS1 and TBS2

Correct Answer: A
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